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BELAGAVI

Class : 10th mathematics
Chapter- 3: Pair of Linear Equations in Two Variables
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Solve: 7x-15y = 2 —(i)
x+2p =3 —(ii)
Solution: From equation (ii), x = 3-2y ,
substitute value of x in eq. (i)]

7(3-2y)-15y = 2 .
19 .

29y=-19 y=— .
'y ® r=25 .

Now, fromx =3 -2y
19 49
v=3-2(30)=(3)

ax+by+a =10 :
ax+byy+c) =0 !
s a,b,01,a9,b9,¢7, — Real numbers:
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By Elimination .

Solve: x+3y =6 - (i)

2043y =12 - (ii)
Now, Adding equatlon (i) and (ii) 3&——

3x=180rx=6
Again, from (i) X2 (ii)
3y=0o0r,y=0
Hence,x=6,y=0

By Cross Multiplication

Algebraic
Methods

General Form

gEach solution (x, »), co;responds _
=t0 a point on the line representing:
: the equation and vice-versa .

Solve: 2x+3p46 =0 —(i)
Jx+5y-74 =0 —(ii)

Solution: By cross-multiplication method
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Presentation
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® Pair of Lines = 2x+33-9 =0 Graphical Representation = E Pair of Lines = x-2y =0 v R
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Pair of Lines = x+2y-4 = 0 .Graphical Representation
2x+4y-12 =10
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Algebraic Interpretation : No solution '] 3[4.’:\
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